V) =T = 4

M20 Pinch bolt for SMN Installation Instructions

Published — Dec, 2021 ZS215A. vl © Full Speed Ahead

HIP B

3.5mm spacer from SMN (E8000) -
N

WWW.FULLSPEEDAHEAD.COM

FRIE

JERSHATESE FSA P20 < 1 PRI 2R B P IEE A 2 - AN E SRR M E S R ERESEE N,
WHREBTTE, SOERESINIEZ 8Bt T - NFBERRA LEHRERA L HIE, BNHEBETERAR A%
#¢ » FSA & Vision &R IER 22 g B (HHI THE »

/ FEFIRAIISR=5% - T ERE =

i

FSA {R[E FSA 5 Vision /= SL AT Sk, MIENSEHAERIEMSE, BRIREEER T SARIE (RER 15 S

o REE R, BEZE o (EESURR ZIRE - RENTBEHE

https://www.fullspeedahead.com/en/technology F#;HIfS -

T B R 7RI 2H 2
(@ M20 Preload Bolt
@ Inner M6 Pinch Bolt
(® Outer M6 Pinch Bolt

% 1t {fifRS LaiR

LRz O BT

ML598 (%5) |46-66 kgf.cm / 4.5-6.5 Nm / 40-58 in.lbs

HHAAL S [SMN 3.5mm #H | kRIS
CK-751 " E8000
CK-752 A2 EP800

ML690 (¥1})[7-15 kgf.cm / 0.7-1.5 Nm / 6-13 in.lbs

% E8000 A 3.5mm #H

CHIA © OHEZZ, (REEFEIERLS, BRINERR 1AL AMIR L H IR E R -
. & @ Pinch bolt, F4i (3 Pinch bolt -

. FHA— @ K O dhifiEsin gy 122-143 kgf.cm / 12-14 Nm / 106-124 in.lbs -

1
2
3. ®E 2 K& 3 0YshfE, VNICAR—RPELE, 0 @ K @ WVIRLZ5I81 2~3 X, HEBIRIRL N 11, PUEHIIEDy 122-143 kgf.cm / 12-14 Nm / 106-124 in.lbs -
4
5

- AR © LR IE -
E: 4T 200km, FERENMIZZHTT @& Q) -

===

FULL SPEED FHEFRD

WTSIONN

Tt =

EEERE, 35 ERiYE ;- https://www.fullspeedahead.com/en/support B#&:

Full Speed Ahead, USA Full Speed Ahead, Europe

12212 Cyrus Way Mukilteo, WA 98275-5702 Via Del Lavoro, 56 20874 Busnago, Milan, Italy
Tel: 1_425_488_8653 Fax: 1_425_489_1082 Tel: +39_039_688_5265 Fax: +39_039_682_3336

L RS ETRIDIRECKE TR, 25 TP IRaG LR AT B R - (VeI R

TH INDUSTRIES / FSA Asia
NO.6, Wu-gong 8th Rd., Wufeng Dist., Taichung City 41353, Taiwan (R.0.C.)
Tel: +886_4_2331_9134 Fax: +886_4_2331_9314



https://www.fullspeedahead.com/en/technology

